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Also,
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1 ir> 3

1 IT i, 1, '!. t*. 11)

2 l'< >. 1, :!, -2, 1

Wliiri 1 lit 10, 1 :\i 13, and 3 lit IS give

lijft of I:;, ttiiiuli may bu made up in Jive

\v:ty>; iinrl tlinn an inik-tinite number of

the conibinatiuiid may be fonucd.

It shonM lie iiliscMvcil tliat if tlic clitTeR'ncTi opposite the

prio's /''.«jf tliaii tin; iwut nny ^'icatfi" t(i;,'('tlu*i' tlian the Hum
nf the (itlicr (litVi-n'riccs (as in the examph'), weassi^^n numbora
(thi- /iiin„t. povsibh-) to thi! pi ites less than tliu mean FIBST,

and I'tcfl vt'rutt ; r.if. of tile latter ease.

Er. 3. How noiih coffee at 25, 21, 23, 22, 21, 19, 18, and
17 eents per pound must be taken to , lake a mixture worth
20 cents per jHiiind ?

Diff Hero the sum of the dif-

ferciues in excess of the mean
4, 3, 2, 1, 1, 2 is greater than that of the dif-

1, 2, 3, 5, 4, 2, etc. ferei ces below tlie mean. We
1, i, 3, 2, 4 .'j therefore assign ./?/.«« numbers

to the prices whidi are greater

1 than the mean, viz., 1 at 21, 1

1 at 22, 1 at 23, 1 at 24, 1 at 25.

1 Tliis gives a i/nin of LI, which

I may be balanced as above by

1 1 at li), 1 at IK, and 4 at 17;

nr. by 2 at 19, 2 at IH and 3 at 17, etc., etc.

Ex. 4- A j^i-ocer has 12 11). of brown su^ar, wortli 10c. per

pound, which he wishes to mix with clarified siigac worth 16c.

per pound, so that the mixture may lie worth 1 tc. per pound.

How many pounds of clarified suj^ar must he take?

Proceedinjx as in the previous examples, without reference

to the t/uanfifi/ of the brown sugar, we find that there must

\ie I lb. brown sugar to 2 lb. clarified sugar. Hut as 12 lb.
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